LOGS AND SURDS-SET-1

1
(a) Write as a single logarithm.
log6 + log3 — log?2
AnSWer (@) ... oveeesensesssensenrseasens [1]
(b) Simplify.
98 =50 + /8
Answer (b) ... ceeeereersensesssssssases (2]
MS-1 (a) log 9 B1 Accept 2 log 3 ]
(b) 442 oerg or V32 B2 B1 for two of 74/2 or 54/2 or 242
seen
[3]
2
(a) 3log2 +2log3 =logk
Find the value of £.
Answer(@) K= ...cuveeerernrerens [2]
log 25
(b) Find the value of 98
log5
Answer(b) . .....oouivvieririreeseseeenns [1]
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MS-2 | () 7 B2 If B0 award M1 for
log(2® x 3*) or
log2® + log3? or better seen e.g. log72
(b) 2 Bl [3]
3 . .
Simplify.
(a) log9+3log2-2logé6
ANSWET() .....ovrerirsinrsesesis s (3]
3
81) 4
(b) (——)
16
oL (o) SR ——— (2]
MS-3 _ n 3 2
(a) | For correct use of nloga=Iloga MI E.g. log2” or log 8 or log 6~ or log 36.
For correct use log a + log b =log ab Ml Using their figures
or loga—log b=log %
log 2 www3 Al
3
(b) 8 or [gj Final Answer B2 It BO give B1 for answers with numerator 8

or denominator 27 OR
SC1 for answers of

27 1 3\
— Or or | —
8 (27/8) |2

5]
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(a) Find the value of log; 8.

ARSWEr(@) ... [1]
(b) Write the following as a single logarithm.
3log 2 —log 4 +2log 5
ARSWEr(D) ... [3]
Ms-4 @ |3 Bl ~
(b) | For correct use of nloga = loga” Ml E.g. 10g23 , log8, logﬁz, log25
For correct use of loga + logh = log ab or
loga — logb = log % M1 Using their figures
log50 www3 Al [4]
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(a) Write as a single logarithm.

log3+log4—log2

ARSWEI(@) | ....oevsssrssrsrssrssssssssss s s [1]
(b) Make x the subject of y=1log, x.

AnSWer(b) X = . e sn e [1]
(¢) Simplify completely.

27
V3
ARSWEI(C) ...reruresessarssssssssssssssssssssssssnsasenns [1]
MS-5

(@) log 6 1
(b) 3 1
(c) 3 1 Accept 3 or -3 [3]
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(a) Write 2log(x + 1) —log(x — 1) as a single logarithm.

ARSWE(Q) —.....ovevrerernesessessns s sssssnans (2]

(b) log;p =4 where p is an integer.

Find the value of p.
ARSWeEr(D) D= eeeeseeseerseenesesesesesnas (2]
MS-6
? |
(@) log (x+1) 2 | M1 for log(x+1)* or log| ——
x—1 x—1
(b) 81 2 | M1 forp=3*
! Solve.

logx +1og5 —log25 =1log 10

ARSWEF X=" oo [3]
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MS-7

50

3 | M2 for [log] [Z] = [log] 10 oe

or M1 for a correct use of logs

8 . .
Solve the following equations.
(a) logx +log3=log 12
ANSWer(@) X = oo [1]
(b) logx=3
ANSWET(B) X = .o [1]
(¢) 2logx—Ilog5=1og20
ANSWET(C) X = oo [3]
M>-8 (a) 4 1
(b) 1000 1
(¢) 10 3 M1 for correct use of a alog x = log a*

M1 for correct use of log a + log b = log ab

or loga—logh = logg
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(a) Find log,oc.

ANSWEF(Q) ..o [1]
(b) Find x when
(i) logx—1log2 =1log6,
ARSWEF(B)(1) .o [1]
(i) log 4= %
ARSWEF(B)(A1) <o [1]
MS-9
(a) -2 1
(b) ) |12 1
(i) |16 1
10 log y=2log3+3log2—log6
Find the value of y.
I T e [3]
MS-10

12

3 B1 for 2log3=1log9 or 3log2=1log8
and M1 for correct use of loga +logb =1logab

or loga—logh= log[%}
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11 Simplify.

210g3—3log2+2log%

MS-11
I 3 3 (2)

log— or —log2 final answer M2 for log —x[—] or better
2 2> \3

or M1 for one correct use of log rules.
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